3 AT BEAG B B 8 15 w8 S A AR

moow[mo Bl w2 g omoow ow |20

= 20— | A s A o
o A “ﬁ”g;f‘ o gff:}i |z - o8| 120
T ey etz 70— 1| 100
ﬁ(/j%()) Y :1320;)0 A@@ﬁ'gﬁ{éiﬁﬁ_w J\gETIE 1 —3—25| 144
T I e s AL 7 TR 5 8t 216

4 R T ﬁ'(;g') S O ek |FSUITHRT 7 T H 5 80| 216
7“'(;2325 ’ :1320:30 E%%ji@ﬁim_w FESTWIAT 779 -8 120
e i mr 6 — 9 | 200
77:01:). 5|9 :1320:30 Eﬁ%ﬁ%&%%&ﬁf;?;% R R 127 100
ﬁ(.{;). 819 :1320:30 ?fu%rmufz%m;g% AN 18] 120
s 130~ |giadiaEaEr 2 —], L

. 10. c 30~ |ruwmige=sa=r wra— R

i%é}%ﬁéﬁé jf(?(? . .11?0:30 )_ﬁuﬁ[g%bi%i% LT 7 TH 5 &M 216

%%‘%ﬁ% jj'( a) U6 - 30 | B oo g [FURRTTATEAT 6 — 0 | 200

Brmfia (k| 70 10-29 | 92 30 JU=ama v e i T 6 — 9 | 200

BT % (k) 12 : 30 1 B B D [H]

. = ——— R

FR<) E'éﬁi 01 'I%O: 20 ’ jjmfé%;gfﬁg BRI 6 — 9 | 200
- P ST NN Ny —
E(';(')% ? '1320: 20| f mé‘gg%*f:}i | [tk L —9 —8 | 120
E A0 (18 B0 VRIS pssties - -2 5| 144
ﬁ'(i,% e :1320:))0 &wwjggkgtggé PALTEENT 7 TH 5 %] 216
76 10.25 |13 : 30~ |PAZeAT L= fH FEE&HMBETH779—8( 120

L%EL,U’LO) fn.qj%.) 3019 :1‘3?030 U~ﬁm4ilj%ﬁnz;?:%;%}; e 1 e s

f‘i(ﬁf%ggﬁ oK) - 30 | b g [FUB AT HINT 6 — 9| 200
7T:O1<1). 5 [13 :1?()5():;0 ﬁﬁ%%%&ﬁ%&ﬁf;?gé R ERI 1 2 7] 100
7T:(.7J1( 1). 6|9 :1320:)) o ﬁﬁ%ﬁ%&@%&ﬁf; E% 2127 | 100
7T:(.7J1(1). 6 |13 :1?()502,0 ﬁﬁﬁﬁ%&@%mfa‘g% 2127 | 100
fl:(.{jl;). 8 |13 :l?éO:NBO ?fugfmmf[zf;izgé BRI S — 1 — 1 8 120




